Grade 4 Decimals Word Problems

Name: Class:

Question 1

The price of a watch was 63.75%. Andy paid with 100$
How much change did Andy get?

The price of a watch was $. Andy paid with
$ How much change did Andy get?

Question 2

3 hamburgers cost 7.50$ altogether.
What is the price of 1 hamburger?

____hamburgers cost $ altogether.
What is the price of __ hamburger?

Question 3

A kg of sugar costs 1.40%. A kg of salt costs 0.55%.
What is the price of 3 kg of sugar and 2 kg of salt altogether?

A kg of sugar costs $. A kg of salt costs $.
What is the price of kg of sugar and kg of salt
altogether ?




Question 4

The price of 3kg of carrots is 4.50%.
What is the price of 8kg of carrots?

The price of kg of carrots is $.
What is the price of kg of carrots?
Question 5

The price of a hamburger is 3.25%.
If you have 25%, how many hamburgers can you buy?

The price of a hamburger is $.
If you have $. how many hamburgers can you buy?
Question 6

I bought a toy car for 7.55%, a pizza for 3.75% and a pencil
for 0.75%. How much money did I spend altogether?

I bought a toy car for $, apizza for $anda
pencil for $. How much money did I spend altogether?




Answers
Q1l: 36.25% Q4: 12%
Q2: 250% Q 5: 7 hamburgers

Q3: 5.30% Q6: 12.05%



